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Real Constant| AREA(MM?) | 1ZZ(mn) [ IYY(mm?) | TKY(mm) | TKZ(mm)| KN
1288 217209.83| 684853.6 75 50
414 125542 | 39954.5 25 50
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Case A 60% 40% 1432083.42 g
6 F1=1002458.394q,
(All DOF) 8 F2=429625.0269
CaseB y 4
Contac52 ( 10 )
6 (All 1
DOF) 9 Beam4  Contac52 { F1(100,2200) F2(850,220,0)}
2 14
(Compatibility) { F1(337.5,220,0) F2(1087.5,220,0)}
(Constraints Equation) 3 12
(10) { F1(1050,2200) F2(1800,220,0)}
9 Contacb2 Beam4 4

{ F1(21002200) F2(2850,220,0)}
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3CaseA CaseB

CaseAl Case A2 Case A3 Case A4
Smax(N / mz) 4375300 7354300 3658800 4394400
Smax 2 2 4 7
(Element number)
Max. Uz (meter) 026661 10 047732° 10* 017654 10 014329 10*

CaseB1 Case B2 CaseB3 Case B4
Smax(N /m? ) 5254100 8123300 4638100 5644300
Smax 2 2 7
(Element number)
Max. Uz (meter) 07322 10* 09110° 10* 05533 10" 043% 10
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4. (N)
2 10 15 22 27 32 37
4 12 20 25 30 35 39
Case A 51353 436.53 166.42 30.296 37.991 43.622 23.264
Case A 295.82 512.75 271.17 74.109 33.396 42134 23514
Case A 21.969 210.27 446.0 268.79 24474 43.074 16.814
Case A 36.938 61.365 24961 70.380 43521 239.13 -1.6678
69 71 73 75 77 79 81
70 2 74 76 78 80 82
Case B 499.54 456.21 155.83 42137 33.623 41.888 224333
Case B 277.46 548.85 239.86 92573 33.260 38973 21.909
Case B 15.741 242.98 399.55 29522 2287 63.063 6.937
Case B 34.567 57515 27.186 107.48 382.70 256.87 0.0
5.
Case A1 Ay Az Ay B, B, Bs Ba
Featety 57.8 344 69.1 57.6 482 311 54.5 44.8
6.
Case Ai Az A3z B; B, Bs Ba
SCr 9.04 538 10.82 9.01 753 487 853 7.01
7. CaseA CaeB (%)
(%) Casel Case2 Case 3 Case4
Smax 20. 1 10.5 26. 8 28. 4 214
Uz 63.6 476 68.1 674 61.7
Case A Case B Smax
1. 0000GE+067
<« 8. 0000E+066 //z\\
g 6. 000 O—E—-I—;l;ﬁ/ \./. —+—Casfg A
w 4. 000 dE+%s6 R -m-Casfg B
2. 0000E+b
0. 000 OE+006— ' '
1 2 3 4
14, CaseB Case A
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